1. XEEWITRE (FHMTE7AD)

Xt AH X R XHE-REF E=E (M)
7A2R ot |[LERBERASKREOH 4,800
7R10R = B |REZERIEHEZON 10,000
7R128 F B |RTEE XSHEE&-SX0H(Fi) 5,000
7H128 B U |[REREEOH 16,200
7R16H ZToftt  (ERALERBERASHRSOH 5,000
7H168 hHE |SRERYDH 5,000
7R298 2 = |FINERYDH 5,000
a &t 51,000




2. B (ST EE)
XHRES | HB(HAS) | REHEH | E(EAD) 2 &8
ES & 1 13 10,000 72,000
B il 1 5 16,200 45,400
B sl 1 3 5,000 15,000
R & u 0 0 0 0
% g £ 2 2 10,000 10,000
0 1 0 8,000
z O 2 7 9,800 40,330
a 5 7 31 51,000 190,730




